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A=023

=0.0529
So, the approximate surface area of the
pyramid is the sum of the areas of each
shape in the net, or
0.0828 km” + 0.0529 km? = 0.1357 km?.
Rubric
1 point for net; 1 point for surface area;
1 point for reasonable work

c. The employee needs to wrap 8 boxes,
each with a surface area of 23.5 ft”
So, the combined surface area
needing to be wrapped is
8x23.5 =188 fi2. Since there is only
160 square feet of wrapping paper left,
the employee will not be able to wrap
all of the gifts.

Rubric

a. 1 point

b. 1 point for surface area;

1 point for reasonable work

c. 1 point for answer;

1 point for explanation
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6.G.4
SELECTED RESPONSE 3. An aquarium has the dimensions shown

Select the correct answer.

1. What three-dimensional figure can be
formed by folding the net shown?

(A Rectangular prism
(B Square pyramid
(© Triangular pyramid
(DD Triangular prism

2. The net of a square pyramid is shown.
Find the surface area of the pyramid

in the net below. What is the surface area
of the aquarium?
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Select all correct answers.
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4. Which of the following areas
correspond to the area of a face of
' the rectangular prism that can be
2w formed by the net shown?
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CONSTRUCTED RESPONSE 6. An employee of a store’s gift wrapping

5. Hector is visiting the pyramids in Egypt. center is wrapping 8 gifts, each in the
same size box. The dimensions of the

He wants to know the surface area of the e
Pyramid of Giza. The approximate
dimensions are shown below, where all of
the triangular faces have the same
dimensions. Use a net to find the
approximate surface area of the pyramid.
‘Show your work

0.18km

251

a. Draw a net for this box.
0.23km

023km

b. Find the surface area of the box.
Show your work.
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c. If there is only 160 square feet of
wrapping paper left, will the
employee be able to wrap all of the
gifts? Explain.
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6.G.4 Answers

1.c

2.c

3.D

4.AB

5. Possible net:

0.18 km

The area A of a triangle is A=_bh. The

2

base b of each triangle is 0.23 km, and
the height h of each triangle is 0.18 km
So, the area of each triangle is

0.0207 km?. So, the area of all four
triangles is 4(0.0207) = 0.0828 k.

A:%xﬂ.zﬁxﬂjﬁ
=0.115x0.18
=0.0207

The area A of a square is A = s%. The side
length s of the square is 0.23 km. So, the
area of the square is 0.0529 km”.

6.a. Possible net:

150

2n
2n 150

250

b. The area A of a rectangle is A = bh,
where b is the base of the rectangle
and his the height. The area of each
rectangle with side lengths 1.5 ft and
2ftis 1.5 x 2 =3 " Since there are
two rectangles with these dimensions,
the combined area is 2 x 3=6 f*

The area of each rectangle with side
lengths 1.5 ftand 2.5 ftis
1.5x2.5=3.75ft’. The area of each
rectangle with side lengths 2 ft and
2.5ftis 2x2.5="5 i’ Since there are
two rectangles of each type, the
combined area is 2 3.75+ 2x 5=
1751

S0, the total surface area of the box is.
62 +17.5 /=235 ft’





